Moto-All.ru

CIIMCOK IOETAJIEU [JI4 "STEERING" BRP FOREST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ1d "STEERING" BRP FOREST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 572066900 Cpok mocTasku ot 19 it AR S 1
2 414439000 CpOK IIOCTaBKH OT 25 [Hel CIRCLIP 1
3 414438900 CpoK ITOCTaBKM OT 25 OHel WASHER 1
4 21003 Cpok noctaBk# 0T 35 fHeU Poxok 1
5 544345 Cpok IocTaBKM 0T 25 gHen HEATHER ASSY 1
6 414473200 CpoK ITOCTaBKM OT 25 OHeH Self tabbing screw 1
7 572099400 Cpok noctaBku oT 19 mHelt Washer 1
8 414612700 Cpok noctaBku oT 19 nHel Kill switch 1
9 414438700 CpoK ITOCTaBKM OT 25 OHeH PIN-LEVER 1
10 5340464 Cpok mmoctaBk# 0T 35 gHen 3aKUM PYKOSITKH 2
11 5443207 Cpok moctaBku oT 19 nHen Heat throttle handle 1
12 572086700 Cpok mocTaBku oT 19 mHen Throttle housing 1
13 414440800 B Hanmuuuu SCREW-SET DIN 916-A2 1
14 31038 Cpok mocTask o1 25 it G700 (o 10PCS 2
15 5241970 CpOK IIOCTaBKH OT 25 [Hel THROTTLE CABLE 1
16 529844 Cpok nocraBku oT 19 gHel Steering handle bar 1
17 40131 Cpok mocTaBku OT 35 mHeH Screw M8x40 4
18 548448 CpoK II0CTaBK| 0T 25 gHen SUPPORT OF BAR 4
19 33011 Cpok noctaBku 0T 19 mHe# Nut elastic M8 4
20 33201 Cpok mocTaBku oT 19 gHen Elastic flanged nut M8 4
21 5343381 CpOK IIOCTaBKH OT 25 fHel RETAINING SUPPORT 2
22 572064500 CpoK ITOCTaBKM OT 25 OHeH DOUILLE *BUSHING 2
23 572064400 CpOK IIOCTaBKH OT 25 [Hel DOUILLE *BUSHING 2
24 539845 Cpok mocraBku oT 19 fHel Steering pale 1
25 33023 Cpok mmocTaBku OT 35 mHeH Nut elastic M10 4
26 31014 CpOK 1oCTaBKu OT 3 gHeH SDII_II\IIhgg (I\ll(i 11(;)5’(013 X1 4
27 548639 Cpok noctaBku oT 19 mHe# Tie rod 2
28 33019 Cpok noctaBk# 0T 35 fHeU laiika 2
29 414768000 Cpok nocrasku oT 19 fHel Ball joint, right 2
30 414768100 Cpok mmoctaBku oT 19 gHel Ball joint, left 2
NUT
31 33017 CpOK IIOCTaBKH OT 25 [Hel M10X1.25VASDIN934 2
M8 ZNE(1=10PCS
32 20068 CpOK IoCTaBKu OT 25 fHeHl (LI\(I)gfI{(DV{%S(I;IIE RD10 4
33 413701700 Cpok mmoctaBku oT 19 nHen Dielectric grease 1
34 31014 CpOK 1ocTaBKu OT 3 gHeH SDII_II\IIhgg (I\ll(i 11(;)5’(013 X1 4




